GRGER  RETHCOK TR AR R

PNDEAES AL FEUEAE
X 57\ *ﬁﬁ%ﬁ\ﬁ fﬁ/ﬁ / H R6.4.4 R6.5.9 R5.6.8 R6.7.4 R6.8.8 R6.9.5 R6.10.3 R6.11.7 R6.12.5 R7.1.9 R7.2.6 R7.3.6
N il C 17.0 21.0 24.0 35.0 32.0 28.0 26.0 20.0 14.0 10.0 0.0 11.0
R C 16.0 20.0 22.0 25.0 30.0 23.0 24.0 18.0 11.0 8.0 7.0 11.0
MR R mg,/1 0.30 0.30 0.30 0.20 0.30 0.30 0.20 0.20 0.20 0.20 0.10 0.20
| — A {8,/ ml =100 0 0 0 0 0 0 0 0 0 0 0 0
LIBNIE s S| ishan | gilishan] gilshao] gibshan] gilisngao] gilsneo] sihshan] gitshao] mitshen] ilishan] Bilsnin
AL PZEDILEY) mg 1 =0.003 <0.0003
& KR O DS mg/1 =0.0005 <0.00005
VS R OZ DL mg 1 =0.01 <0.001
& iﬁéﬁg{fggﬁ\i@ mgﬁ %0.01 0.003 0.005 0.003 0.001
S N ta mg =0.01 <0.001
ANMitzuMEE W mg,/1 =0.02 <0.001
MANFEIEZE R mg,/1 =0.04 <0.004
1 yT;{{ﬁWﬁy mg,/1 =0.01 <0.001 <0.001 <0.001 <0.001
z%%% Y mg,/1 <10 0.4
@Y7 R OZEDILED mg,/1 =0.8 <0.05
B |[RUEROZDIEY mg,1 <1.0 <0.1
IR AES meg,/1 =0.002 <0.0002
ﬁﬁ@ L4y A% mg,/1 =0.05 <0.005
18 VA-1,2-vanzF Ly KON
e mz—l,za—y'auu:cﬂ% mg?l <0.04 <0.004
221y yua Ay mg,1 =0.02 <0.002
I% e mg,/1 =0.01 <0.0005
E i B EEE RS mg,/1 =0.01 <0.001
N mg /1 =0.01 <0.001
SRR mg1 =0.6 0.06 0.11 0.14 0.14
JuulER mg,/1 =0.02 <0.002 <0.002 <0.002 <0.002
VLT mg,/1 =0.06 <0.006 <0.006 <0.006 <0.006
NPT meg,/1 =0.03 <0.003 <0.003 <0.003 <0.003
Eﬁ V7 urynn Yy mg,/1 =0.1 <0.01 <0.01 <0.01 <0.01
E'i L mg,/1 =0.01 <0.001 <0.001 <0.001 <0.001
e T e AT mg,1 =0.1 <0.01 <0.01 <0.01 <0.01
# M) 7o e mg,/1 =0.03 <0.003 <0.003 <0.003 <0.003
7 aEY ol mg,/’1 =0.03 <0.003 <0.003 <0.003 <0.003
THERVA mg,/1 =0.09 <0.009 <0.009 <0.009 <0.009
FVAT VT ER mg 1 =0.08 <0.008 <0.008 <0.008 <0.008
HEn X NZEDILEY) mg,1 =1.0 <0.01
@ ;@Eﬂ%?é%hﬁ% mgﬁ 50.2 <0.02 0.02 <0.02 <0.02
% ) k5 m =0.3 <0.03
i ﬁlﬂ&(ﬁ%@hg\ m§/1 <1.0 <0.02
FIE|FNTLA R OZ DL AW mg 1 =200 5.6
Mz O olbE Y mg,/1 =0.05 <0.005
IR mg,/ =200 3.9 3.7 3.6 3.6 3.6 3.8 3.6 3.4 3.5 3.8 3.5 3.6
| B (Bl mg,/1 =300 20
| [ZRFEIEEY) mg 1 =500 75
=70 a4 SR A mg,/| =0.2 <0.02
iz o VAR mg,1 | =0.00001 <0.000001
B TS [2-AFMAVE VA mg 1 [ =0.00001 <0.000001
Y | FEA A S TSP mg 1 =0.02 <0.002
I 5|72/ -VIE mg,1 =0.005 <0.0005
BIERET 77 mg,/1 =3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 0.3 <0.3 <0.3
W [PHE 5.8=8.6 7.1 6.9 7.5 7.1 7.5 7.1 7.3 7.1 7.2 7.3 7.1 7.2
H |5 [0k el Rl BEARL] REAaL] RBEARL] Bl BEsel| BEAL] BEeL| BEARL] BEAaL] RBEARL|] BEiL
2 A el BEARL] WERL] REARL] BERL] WEARL] RERL] BERL] WEARL] RERL] BERL] WERL] WEll
LRSS 3 =5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
KRB 3 =2 <0.1 <0.1 0.2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1




